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15.) Matthew Lovett is making cookies for a bake sale. One batch of chocolate chip cookies
requires 3 cups of flour and 1 cup of sugar. One batch of sugar cookies requires 2 cups of flour
and 2 cups of sugar. He has 34 cups of flour and 18 cups of sugar available. He can't make mor®&
than 10 batches of chocolate chip cookics because he doesn't have enough chocolate chips. Ifhe
plans to sell the chocolate chip cookies for $6 per batch and the sugar cookies for $5 per batch,
how many batches of each type should he make to maximize his profit?
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